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i
A7 Evalunte _ﬂ”- ' :‘"z--'_ - '”;”"]“F"'
[}
\;}2-/ The position of a moving particleis 7 (1) = 127 « 1 « 1'% Find velocity and acceleration of the particle

al ! =2,

=1
.“z

I/;; " z=¢"cosx [ind e

4. Find the level surface of Fx,y,z) = 24y - 27 passing through (1,1, 11

. Evaluate ‘]r:rdx, where Cis the cirele x = cosf,y -sinf, 0 < <25

b
&~ Show that curl 7 =0-
_7 State Green's theorem in the plane.

1
j.r_\'z dx dy dz.
0

32
ﬁ./ Evaluate f!g

ius 4 in the complex planc.
/‘;l Write the equation of the circle d radius 4in I

with centre 1,2} an
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22, Evaluag [

& 2 «Where (0 lzf=1
(8 x 3 =21 murks)

Section 13

1”'“‘“ e at least five que stions.

Each gue stion carries H marks.

Al guestion s cun be attended.
Overall Ceiting 25.

AT Use chain rule to find %

. i
at (0,1, 2) for 1y = 3y + y2 i x = Cosx, ysinx, z2=¢

//1‘1- Find the directional derivative of [(x.3) = Jx%y + 2422 ati=2.2, Din the direction of the negative

F-axis.

/]'B' Find the area lying between the parabola y - 43— ¥* and the line y = x using double integrals,

1
16. Use |:-u|.'1r'i.'nnrdinmestnp\:alu:\u-_[ " — g dydx.
il 1 ' - -

I" Show that H-F-'I"[Q'- ) I( " -] is not analytic at_any point. NW _
bz+7 \E@ ol r?”'ﬁ

C {ih"' ] e ve1reele - =
/Lﬂ' Evaluate J 20, _q . whereCis thecircle | 2 -2

19, Evaluate [Rt‘!z dz along a line segment from z=0 to 2=1+24

(h x5 =20 marks)
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Scetion C

Ansteer any one question.
The question carries 11 marks.

Let Fix,v.2)=

given by that portion of the plane z

Use triple integrals to find the volume of th

planes z = landx +z =9 ’I’
B

Z—l + :L represents the Now of

z=6-3x

a liquid. Find the flux of g through the surace 8
~2y in the first octant oriented upward

3 2 " 4 b N L »
e solid with in the eylinder x* <y~ =9 and between the

itz 11=11 marks!



